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101 i = 80 | 70 | 750 101 ~ 100 | 75 | 75 | 833
201 i i i = leoviol 20 i i i = [#pvior
301 i i i = leoviol 30 i i i = #ovior
303 i i i = [eoviol 303 i i i = #pvior
304 i i i = leoviol 304 i i i = #ovior
305 i i i = leoviol 305 i i i = #ovior
306 i i i = leoviol 306 i i i = #ovior
307 i i i = leoviol 307 i i i = #ovior
308 i i i = leoviol 08 i i i = #pvior
309 i i i = leoviol 309 i i i = #ovior
310 i i i = leoviol 310 i i i = #pvior
311 i i i = leoviol an i i i = [#pvior
203 i i i = vl 203 i i i = | #DIV/O!
204 i i i = leoviol 204 i i i = #pvior
205 i i i = leoviol 205 i i i = #pvior
206 i i i = leoviol 206 i i i = #pvior
207 i i i = leoviol 207 i i i = [#pvior
208 i i i = leoviol 208 i i i = #pvior
209 i i i = leoviol 200 i i i = [#pvior
210 i i i = ool 210 i i i = #pvior
211 i i i = leovol 2n i i i = [#pvior
102 i i = 8200 | 820 | 102 = | 9 100 | 975
202 i i i = leoviol 202 i i = #pvior
302 i i i = looviol 302 i i = #ovior
103 i = | 83 | 88 | 855 103 = [ 85 | 100 | 100 | 950
104 i = |88 | 90 | 890 | 104 = [ 100 [ 100 | 100 | 100.0
105 i = | 85 | s0 | 825 105 = [ 95 [ 100 | 100 | 983
106 i |83 | s0 | 815 106 = [ 95 [ 100 | 100 | 983
107 i 3 | 89 | 860 | 107 = [ 100 [ 100 | 100 | 100.0
108 i =81 | sa | 825 108 = 100 | 100 | 100 | 100.0
109 i 3 | 88 | 855 | 109 =85 | 95 | 100 | 933
110 i s | 81 | 820 | 110 = 100 | 90 | 100 | 967
111 i S o3 |93 | 930 | 11 = 100 | 100 | 100 | 100.0




